ATTACHMENT No. 4



2841 Flightline Avenue Sanford, FL 32773

PHONE: (407)328-8440 FAX: (407)328-1110	
FAX: (407)328-1110	DATE: 11/8/99
	DATE:
o:_MSB	PHONE:
TTN: Alaw Yurman	FAX: 557-4614
ROM: TONY VECCURO	
ESSAGE: Pre-Buy Dex	repencies you requestes.
· · · · · · · · · · · · · · · · · · ·	
	1027
_ ·	
OTAL PAGES SENT:	

Invoice #: 5771 Page 1

Account : McMILLIN AIRCRAFT, INC. Date Printed: 11/01/99

Sold To: McMILLIN AIRCRAFT, INC. Account # : MCMIA

1000 GENIUS DRIVE Date Opened: 1/27/99 WINTER PARK FL 32789 Date Closed: 1/28/99

Aircraft Number: N45BA

Serial # : 60

Discrepancy: 1

Problem: Pre Buy Inspection.

A/T -> Complied with customer request. List supplied to customer.

\$735.00 is based on over time needed to complete work in the time expected.

Charges This Item: Labor Charges

Labor Charges : 735.00
Flat Fee Charges : 2,500.00
Total This Discrepancy : 3,235.00

Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 CONSUMABLES 0.00 0 0.00 0.00 2 15330 STATIC WICK 28.03 101 56.29 112.58

· 中央部门 2000年来新国际市场和国际的基本和国际的证据,2000年来的基础设计和国际公司企业和联系和国际的现代和国际的设计和实现的现代。

SUMMARY OF CHARGES
Flat-Fee Charges : 2,500.00 Parts
Labor- 0.00 Hours: 735.00

Subtotal

Total Due : 3,347.58

Total Inventory Cost : 56.06 Total Freight Cost : 0.00

PAYMENT IS DUE ON RECEIPT. INVOICE TOTAL WILL BE SUBJECT TO A 1.5% FINANCE CHARGE IF PAYMENT IS NOT RECEIVED BY THE 10TH OF THE MONTH.

p1:01 6661/80/11 SUNJET MAINTENANCE PAGE 02

Page Invoice #: 5776 Date Printed: 11/01/99 Account : McMILLIN AIRCRAFT, INC. Sold To: McMILLIN AIRCRAFT, INC. Account # : MCMIA Date Opened: 1/31/99 1000 GENIUS DRIVE WINTER PARK FL 32789 Date Closed: 2/08/99 Aircraft Number: N47BA Type : Lear 35 Serial # : 60 Time: Engine Serial #: Cycles: Discrepancy: 1 Problem: Cockpit flood light inoperable. A/T -> Inspected and found to be disconnected lower left instrument panel to gain access to power cord. Connected and operations checked OK. Charges This Item: 1.00 hrs @ 50.00: Total This Discrepancy: 50.00 Discrepancy: 2 Archlem: Door latch lower jaws need repair or rigging. A/T -> Removed and replaced door catch plate with same P/N 321602-007. Operations checked OK. All work performed in accordance with Learjet 35 series maintenance manual section 52-11-02. Charges This Item: 6.00 hrs @ 50.00: Quanty Part Number Description Unit Cost MUP Unit Price Extended KIT, 2491002-1 473.00 25 591.25 591.25 Freight : Total This Discrepancy: Discrepancy: 3 Problem: Right side stick shaker loose. A/T -> Removed stick shaker and found 2 mounting screws for shaker to be loose. Retorqued and installed unit and saftied. Charges This Item:

Quanty Part Number

Description

PR1440B1/2T

SEALANT

Description

Unit Cost MUP Unit Price Extended

0.00 0 22.05 66.15

Total This Discrepancy: 216.15 Discrepancy: 4 Problem: Pedestal light will not dim. A/T -> Troubleshot unit and found connection on dimmer central box to be loose. Installed properly and operations checked OK.

Charges This Item:

PAGE 03

11/08/1999 10:14 MAINTENANCE

3.00 hrs @ 50.00: 150.00

Invoice #: 5776
Account : McMILLIN AIRCRAFT, INC.

Date Filmed: 1.7...,
Total This Discrepancy: 150.00 Page 2 Discrepancy: 5 Problem: Pilot mic holder missing. A/T -> Installed new microphone holder and operations checked OK.

Charges This Item: .50 hrs @ 50.00: 25.00

Total This Discrepancy: 25.00 Discrepancy: 6 Problem: CD player needs to be secured. A/T -> Secured CD player with new screws. 1.00 hrs @ 50.00: 50.00 Total This Discrepancy: 50.00 Charges This Item: Discrepancy: 7 Problem: Foward left cabin seat will not recline. A/T -> Removed seat from aircraft to gain access to hydrolock system. Serviced hydrolok with Mil-H-5606 hydrualic fluid and operations checked OK. Assembled and installed seat back into aircraft. All work performed in accordance with Lear 35 maintenance manual section 25-20-01. Charges This Item: 6.00 hrs @ 50.00: 300.00 Employees Working on this Discrepancy Hours Worked Total This Discrepancy: 300.00 Discrepancy: 8 Problem: Ice box door loose A/T -> Removed compartment and repaired honeycomb material. Secured drawer face with new hardware. Allowed adhesive to dry then reinstalled cabinet. Operations checked OK. 6.00 hrs @ 50.00: 300.00 Total This Discrepancy: 300.00 Charges This Item: Discrepancy: 9 Problem: Aileron sealant service bulletin needs complied, A/T -> Removed sealant from left and right allerons in board and out board to comply with service bulletin 35/36-27-33. Charges This Item:

3.00 hrs © 50.00: 150.00

Total This Discrepancy: 150.00 Discrepancy: 10 Problem: Bottom on lower tail nav light inoperable.

11/08/1999 10:14 PAGE 04

Invoice #: 5776 Account : McMILLIN AIRCRAFT, INC. A/T -> Removed and replaced lower lamp with same P/N GE1683 and operations checked OK. Reinstalled lens cover. All work performed in accordance with Lear 35 maintenance manual section 33-40-05. Charges This Item: Quanty Part Number Description Unit Cost MUP Unit Price Extended 2 GE1683 LIGHT BULB 3.24 40 4.54 9.08 Total This Discrepancy: 59.08 Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs © 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60 96.60 KIT, BATTERY OVERHEAT Total This Discrepancy: 496.60
A/T -> Removed and replaced lower lamp with same P/N GE1683 and operations checked OK. Reinstalled lens cover. All work performed in accordance with Lear 35 maintenance manual section 33-40-05. Charges This Item: Charges This Item: Charges This Item: Charges This Item: Cost MUP Unit Price Cost Mu
operations checked OK. Reinstalled lens cover. All work performed in accordance with Lear 35 maintenance manual section 33-40-05. Charges This Item: Quanty Part Number Description LIGHT BULB Discrepancy: Di
performed in accordance with Lear 35 maintenance manual section 33-40-05. Charges This Item: Quanty Part Number Description LIGHT BULB Discrepancy: Discrepancy: Discrepancy: Discrepancy: A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: Bacterian Bulb Bactery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: Bacterian Bulb Bactery 140 temperature light on. Bactery 150-00 August 150-00 Bactery 150-00 Charges This Item: Bactery 140 temperature light on. Bactery 150-00 Charges This Item: Bactery 140 temperature light on. Bactery 150-00 Charges This Item: Bactery 140 temperature light on. Bactery 150-00 Charges This Item: Bactery 150-00 Charges This Item
Charges This Item: Cuanty Part Number 2 GE1683 LIGHT BULB Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs 6 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60
Charges This Item: Quanty Part Number Description Total This Discrepancy: Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2
Quanty Part Number 2 GE1683 LIGHT BULB 3.24 40 Total This Discrepancy: 59.08 Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60
Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$ 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60 96.60
Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$ 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60 96.60
Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$ 50.00: Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60
Discrepancy: 11 Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$ 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60
Problem: Battery 140 temperature light on. A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$ 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60
A/T -> Test system. Removed inoperable 140 temp switch and replaced with new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs 6 50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60 96.60
new of same P/N 6608309-2. Spliced wires and installed heat shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs 6 50.00: Quanty Part Number Description Unit Cost MUP Unit Price Extended 50.00: 69.00 40 96.60 96.60
shrink. Operations checked Ok. All work performed in accordance with Lear 35 series maintenance manual section 24-32-04 and 20-00-00. Charges This Item: 8.00 hrs \$50.00: 400.00 Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60
20-00-00. Charges This Item: Quanty Part Number Description Unit Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60 96.60
Charges This Item: Quanty Part Number Description Outline Cost MUP Unit Price Extended 1 2398230-2 69.00 40 96.60 96.60
1 2398230-2 69.00 40 96.60 96.60
1 2398230-2 69.00 40 96.60 96.60
1 2398230-2 69.00 40 96.60 96.60 YET, BATTERY OVERHEAT
KIT, BATTERY OVERHEAT
Matal Mhis Disamanana ACC CA
Total This Discrepancy: 496.60
Discrepancy: 12
Problem: Removed left and right horse collars for repair of leading edges.
A/T -> Removed left and right sides and fiberglassed leading edges.
painted and reinstalled. All work performed in accordance with
Lear 35 series maintenance manual section 20-00-00.
Charges This Item: 6.00 hrs @ 50.00: 300.00 Total This Discrepancy: 300.00
Total This Discrepancy: 300.00
Discrepancy: 13 Problem: Auxillary hydraulic pump leaking at fitting.
A/T -> Retorqued fitting and leak checked OK.
Charges This Trem. 1 00 hrs @ 50 00. 50 00
Total This Discrepancy: 50.00
1000 1111 D1000putty
Discrepancy: 14
Problem: Removed emergency battery for charge.
A/T -> Removed battery and serviced in accordance with Learjet 35 series
A/T -> Removed battery and serviced in accordance with Learjet 35 series maintenance manual section 24-33-01. Checked OK. Installed back
A/T -> Removed battery and serviced in accordance with Learjet 35 series maintenance manual section 24-33-01. Checked OK. Installed back into aircraft.
A/T -> Removed battery and serviced in accordance with Learjet 35 series maintenance manual section 24-33-01. Checked OK. Installed back into aircraft.
A/T -> Removed battery and serviced in accordance with Learjet 35 series maintenance manual section 24-33-01. Checked OK. Installed back into aircraft.
A/T -> Removed battery and serviced in accordance with Learjet 35 series maintenance manual section 24-33-01. Checked OK. Installed back into aircraft.

11/08/1999 10:14 PAGE 05

Invoice #: 5776 Account : McMILLIN AIRCRAFT, INC. Problem: Fabricate data tag for air A/T -> Fabricated A/C data plate	Date Printed: :	Page 4 11/01/99
A/T -> Fabricated A/C data plate secured to ventral.	of 321CRS .025 stainless steel a	nd
Charges This Item:	1.50 hrs @ 50.00: Total This Discrepancy:	75.00 75.00
Discrepancy: 16 Problem: Left engine oil leaks. A/T -> Retorqued fitting. Leak c		
Charges This Item:	.25 hrs @ 50.00: Total This Discrepancy :	12.50 12.50
Discrepancy: 17 Problem: Left engine case bolt loos	e.	
Charges This Item:	.25 hrs @ 50.00: Total This Discrepancy:	12.50 12.50
Discrepancy: 18 Problem: Left engine has 2 loose both leads. A/T -> Repositioned and secured c	nding strap clamps on igintor hot lamps. Operations checked OK.	<u>.</u>
Charges This Item:	.25 hrs @ 50.00: Total This Discrepancy:	12.50 12.50
Discrepancy: 20 Problem: Cockpit headliner needs repaired headliner ceiling work performed in accordance chapter 25-00-00.	pair. strip with adhesive and secured. ce with Lear 35 maintenance manua	All
Charges This Item:	1.25 hrs @ 50.00; Total This Discrepancy :	62.50 62.50
Discrepancy: 22 Problem: Left battery has corrosion A/T -> Removed battery and cleaned up on box structure. Asser work performed in accordance	built up on cells and box	ed build
manual eachiem 14 31 A1		

SUNJET MAINTENANCE

pI:01 6661/80/II

20 00 00	ith Lear 35 ser	ies maintenan	ce manual sectio	n
Charges This Item: Quanty Part Number 1 PR1440B2 Discrepancy: 24	Description SEALANT	4.00 Unit Cost	hrs @ 50.00: MUP Unit Price	200.00 Extended
a	A SHESSMAN IN A	Total This	Discrepancy:	248.28
Problem: Service alco A/T -> Serviced alc	hol reservoir.	in accordance		
Charges This Item:		.25	hrs @ 50.00:	12.50
	B	TOTAL TRIS	nrs @ 50.00: Discrepancy:	12.50
installed pr	hecked Ok. Remo operly. Operati	oved one cover long checked	r and found bulb OK. All work pe:	not rformed in
Problem: Defueled airc A/T -> Defueled airc approximatel: Charges This Item:	craft to repair craft to seal fu y 4600 lbs of Je	fuel leaks. uel leaks in vet A. 22.00 .50 Total This	wings. Defueled hrs # 50.00: hrs # 65.00: Discrepancy :	1,100.00 32.50 1,132.50
Discrepancy: 27 Problem: Emergency ex: A/T -> Painted hand with A/C pair Charges This Item:	it handle need t le red. Operati nt requirements.	o be painted ons checked (red	cordance
Discrepancy: 28 Problem: Misc. paperwo A/T -> Complied with Charges This Item:		epartment.	hrs @ 50.00;	

Invoid Accou	ce #: 5776 nt : McMILLI	N AIRCRAFT, INC.	Total This	Date Printed: Discrepancy:	Page 6 11/01/99 475.00
Proble A/T	-> Fiberglas accordanc 20-50-00	nlet needs repair s overlay and touc e wtih Leart 35 se and 20-00-00.	h up with pair ries maintenar	nt. All work per nce manual sectio	formed in
Cha	rges This Ite	m:	5.00 Total This	hrs @ 50.00: Discrepancy:	250.00 250.00
Proble	left and	nas needs to be re	moved and repa	air existing hole	s for
Cha	rges This Ite	m: Description	10.00	MID Unit Price	500.00
Quanty	5A4485	CONNECTOR	.441	367 2.06	4.12
2	CT7	CABLE TIE	.105	309 .43	. 86
12	MS21059L04	NUT PLATE	.40	365 1.86	22.32
1	LEK002		170.00	25 212.50	212.50
	PLACARD KIT,	EXTERIOR	Freight	:	16.50
		h patch in accordance: Description CONNECTOR CABLE TIE NUT PLATE EXTERIOR	Total This	Discrepancy :	756.30
Discre Proble A/T	epancy: 31 em: Fuel leak -> Removed l several w checked O	s need to be sealedeft and right fueling fasteners. Set. K. All work performs manual section 2 Description SEALANT SEALANT	d. tank panels. aled with programed in accord	Sealed dome nut seal BR2 and B1/2 dance wtih Lear 3	s and . Leak 5 series
3 1	PR1440D1/2	GEALANT	35 22	37 48 28	48.28
1	PR1440B2	Surgaru i	Total This	Discrepancy:	3,324.78
Discr Probl	epancy: 32 em: Left and places. -> Evaluated	right cabin seat rand blended out le with Learjet SRM	ail are broker	n and chipped in hand seat tracks	several
Cha	rges This Ite	m :	4.00	hrs @ 50.00:	200.00
CIIG	aged Inab 100		Total This	Discrepancy :	200.00
Discr	epancy: 33				· · · · ·

pI:01 6661/80/II

Invoice #: 5776 Account : McMILLIN AIRCRAFT, INC. Problem: Service O2 bottle. A/T -> Serviced O2 bottle in accord 12-10-09. Charges This Item:	Page 7 Date Printed: 11/01/99 dance with Lear maintenance manual 1.00 hrs @ 50.00: 50.00 Total This Discrepancy: 50.00
Discrepancy: 34 Problem: Loop antenna on lower fusel: A/T -> Fiberglassed overlay loop anchapter 51-70-05. Charges This Item:	age foward side eroded. ntenna in accordance with Learjet SRM 4 5.50 hrs @ 50.00: 275.00
Discrepancy: 35 Problem: Outside repair. Charges This Item:	Outside Repair-Labor: 1,187.50 Total This Discrepancy: 1,187.50
Quanty Part Number Description 1 CONSUMABLES 2 MS28778-8 "O" RING 1 MS28778-12 "O" RING 1 MIL-L25567D TYPE 1 SNOOP	Unit Cost MUP Unit Price Extended 0.00 0 367.53 367.53 .549 596 3.82 7.64 .995 41 1.40 1.40 3.75 40 5.25 5.25
SUMMARY OF CHARGES Outside Repair-Labor : 1,187.50 Labor- 182.25 Hours: 9,247.50	O Freight Charges : 36.75
	Subtotal : 12,296.54 Total Due : 12,296.54
Total Inventory Cost : 1,04 Total Freight Cost :	16.02
PAYMENT IS DUE ON RECEIPT	r. INVOICE TOTAL WILL BE

PAYMENT IS DUE ON RECEIPT. INVOICE TOTAL WILL BE SUBJECT TO A 1.5% FINANCE CHARGE IF PAYMENT IS NOT RECEIVED BY THE 10TH OF THE MONTH.

11/08/1333 10:14

SUNJET MAINTENANCE

LEARJET 35/35A/36/36A MAINTENANCE MANUAL

		111110-11-		REFERENC			/35A/36/36A	
Inspection	NDI Manual							
IRN No. Ref.	Maintenance (Manual (Ch Ref.)	Structural Repair Manual	Component Maintenance Manual	X-Ray (Part 2)	Eddy Current (Part 3)	Optical Prism (Part 4)	Fluorescent Penetrant (Part 5)	Magnetic Particle (Part 6)
E2520000	-	-	-	-	-	-	-	-
E3500030	-	-		-	-	-] -	-
E5321012	25-50-10	-	-	-	- '	· -	-	-
E5321014	-	-	-	-	-	-	-	-
F3050008	30-50-02	_] _	_	_			
E3500000	35-00-00	-	-	-	-	-	-	-
E2814037	28-14-00			_	_	_		
E5323010								
E5610002		l .	1 -	۱ .				
E5620000			-	-	-	-	-	-
70504050	ļ	,	}] _			
E2731050		-		<u> </u>]]	1 -	.
E3040004		-	-	1	1 [_	
F3050002		-	1	_				_
G3050009		! -	-	-	} -	1	}]
E3232002		-	-	-	-			
E3400000		· -	•	1 -	-			1]
E3411011		-	'	1	-		1 [
E3411013			1 - /	-	1 -	1	} _	
E3411043		-	-	-	-	1 -		
E3500010		-	1 -) ·	i -	1 -	1 [1
E5240010		•	-	-	1 -	,	1 -	1 -
E5360001	-	-	-	-	-	1	1	1
E5323012	-	-	-	-	-	-	-	
G1230000	12-10-08	-	· -	-	-		-	-
	!	1			•	1		1
			}	<u> </u>	1			
	1	1	1					
		}						
							{	
			1					
		1	1					
								1
								İ
ĺ	1	1	1	1	1	1	1	1

EFFECTIVITY: ALL

5-10-02 Page 5 Feb 12/99

I